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1 NEEPNEY 4 PN 70 35 33 68 138
2 TR FQ 4 KBERF TR F 71 37 34 71 142
3 Elg a5 4 KBRFFEAF 70 35 38 73 143
4 ®BEE K 3 KRFBTAF 75 33 36 69 144
5 Hf ZF+ 4 KRF BT AT 71 39 35 74 145
6 Al K 4 KRF BT ARF 74 35 37 72 146
7T NEF K 4 KRF BT ARF 73 37 37 74 147
7T TIE 1R 2 KIRF R AT 73 35 39 74 147
7T %M T4 3 AFHIARF 70 38 39 77 147
10T FHE  BRABED 4 KBRFFEAF 76 34 39 73 149
10T BB Kz 3 plin =2 72 39 38 77 149
12 B ME 3 N 72 39 39 78 150
13T LT BERE 3 Pl N 79 36 36 72 151
13T IR HKike 3 RFRIKRF 75 39 37 76 151
13T N EZ 4 plin- - N=a 74 39 38 77 151
13T 28 BB 4 B AS 74 37 40 77 151
13T B8HF BRE 4 plin -y =2 73 37 41 78 151
18T AEE HE 4 PR =2 76 37 39 76 152
18T FEH EZN 3 plin N 74 40 38 78 152
20T F)II K 3 KFFIAF 78 38 37 75 153
20T BEUIEN 4 KFEFIAF 78 36 39 75 153
20T TF R 4 AFEIRZF 77 37 39 76 153
20T G KA 4 LN 76 36 41 77 153
24T HA =XEB 4 PR = 78 35 41 76 154
24T FIE &% 3 KFFIKF 77 37 40 77 154
24T E & 2 EabipN=a 75 36 43 79 154
24T R BUK 3 KFRIARZF 72 41 41 82 154
28T AR BB 3 EEE AT 77 38 40 78 155
28T Ll K 3 RFFIARF 74 43 38 81 155
30T R FEKRES 4 plin -y =2 76 42 38 80 156
30T WEr BE 3 PR N 74 43 39 82 156
32T = 5 4 KRF BT RF 84 35 38 73 157
32T B B 3 RFRIARF 82 38 37 75 157
32T L= i 4 RYA):SpN=2 78 37 42 79 157
32T PN RETN 4 U AEERF 77 36 44 80 157
36T K B 3 AFRIAF 80 35 43 78 158
36T ZWAN 4 Eapi=a = 79 40 39 79 158
36T X5 J|A 2 AR 77 38 43 81 158
39T AT @E 3 FEATF 80 39 40 79 159
39T Epn BEX 2 Ealici=al SN 80 38 41 79 159
41T RN 3 KIRF IR A 85 35 40 75 160
41T WE H#X 2 EapEE N 79 40 41 81 160
43T Hif ZFA 4 plin -y =2 83 39 39 78 161
43T HH A 2 KIRF BT AT 83 38 40 78 161
43T FKISSEHE 3 BERARF 83 36 42 78 161
43T TR AUE 4 Ealicieal SN 82 36 43 79 161
43T i ==IES 2 Eerig=a e 74 44 43 87 161
48T KHE BEXEP 4 RIEH AT 80 36 46 82 162
49 EE B2t 4 U ApEE R 82 37 45 82 164
50T MR BRA 3 BFPIFT 85 41 39 80 165
50T IEE RN 2 FmAF 84 40 41 81 165
50T BT Ha 4 REML KT 81 44 40 84 165
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53 =8 RA 2 RS 87 40 41 81 168
53 N 2 Ealicieal N 85 41 42 83 168
53 Sl BE 4 KFFIKF 84 44 40 84 168
56 BH Ax 4 KIREZFEKRF 90 36 45 81 171
57 [N SNz 4 TEE R 87 44 41 85 172
58 T E=— 4 RIS 81 46 46 92 173
59 BAR JHK 2 KBRFFEAFE 90 45 40 85 175
59 b e 2 BFFIPER 89 47 39 86 175
61 N 2 iR = 87 44 46 90 177
62 B A 3 KFRIARZF 89 46 44 90 179
62 AT THRER 2 FURRE AR 81 49 49 98 179
64 Heh the 2 KIREZEKRF 84 48 48 96 180
65 A KhE 4 Eapi=a = 90 47 44 91 181
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